Algebra 1 8.4_,‘_ -
Find squares of sums and differences
Find the product of a sum and a difference
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What does it mean to square something?
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Is17=10+77?

s 172 =(1o+?2 ?

(what is the correct answer?)

|s that the same as 102 + 727
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Practice
Find each product.
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1B. (3x + 4y)?
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Example 2
Find (2x — 5y)°.
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GuidedPractice

Find each product.
2A. (6p — 1)? 2B. (a—2b 2
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PHYSICAL SCIENCE Each edge of a cu(be of aluminum i

4 centimeters less than each edge cf a cube of copper
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GuidedPractice

3. GARDENING Alano has a garden that is g feet long and g feet wide. He wants to
add 3 feet to the length and the width.

A. Show how the new area of the gayden can be modeled by the square of a
binomial. 4 +3)
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B. Find of this binomial.
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Difference of squares: EWE look for a pattern
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Example 4
Find (2x* + 3)(2x% — 3).



GuidedPractice
Find each product.
4A. (3n + 2)(3n — 2)



4B. (4c — 7d)(4c + 7d)



